Management

Part A

Research Methodology
Q1) When referring to a curve that tails off to the left end, you would call it:

(a) Symmetrical

(b) Skewed right

(c) Positively skewed
(d) All of these

(e) None of these

Answer: E. None of these

Q2) Which of the following normal curves looks like the curve for p=10, c=5?

(a) Curve for p=10, o=10
(b) Curve for u=20, o=10
(c) Curve for p=20, 6=5
(d) Curve for p=12, 6=3
(e) None of these

Answer: C. Curve for p=20, 6=5

Q3) If one were to divide the standard deviation of a population by the mean of the same population
and multiply this value by 100, one would have calculated the:

(a) Population standard score

(b) Population variance

(c) Population standard deviation

(d) Population coefficient of variation
(e) None of these

Answer: D. Population coefficient of variation

Q4) If a statistic underestimates a population parameter as much as it overestimates it, we would call
it:

(a) Consistent
(b) Sufficient

(c) Efficient

(d) All of these
(e) None of these

Answer: E. None of these



Q5) Suppose that a hypothesis test is being performed for a process in which a type I error will be
very costly, but a type II error will be relatively inexpensive and unimportant. Which of the following
would be the best choice for a in this test:

(a) 0.01
(b) 0.10
(c) 0.25
(d) 0.50
(e) None of these

Answer: A. 0.01

Q6) Assume that chi square test is to be performed on a contingency table with four rows and four
columns. How many degrees of freedom should be used?

(a) 16
(b) 8
(©) 9
(d) 6
(e) None of these

Answer. C. 9
Q7) The F ratio contains:

(a) Two estimates of the population variance

(b) Two estimates of the population mean

(c) One estimate of the population mean and one estimate of the population variance
(d) Both (a) and (b)

(e) None of these

Answer. A. Two estimates of the population variance

Q8) A border patrol checkpoint that stops every passenger van is using

(a) Simple random sampling
(b) Systematic sampling

(c) Stratified sampling

(d) Complete enumeration
(e) None of these

Answer: D. Complete enumeration

Q9) The central limit theorem assures us that the sampling distribution of the mean

(a) Is always normal

(b) Is always normal for large sample sizes

(c) Approaches normality as sample size increases

(d) Appears normal only when population size is greater than 1000
(e) None of these



Answer: C. Approaches normality as sample size increases

Q10) The sequence C,D,C,D,C,D,C,D,C,D would probably be rejected by a test of runs as not being
truly random because:

(a) The pattern C,D occurs only five times; this is not often enough to guarantee randomness
(b) The sequence contains too many runs

(c) The sequence contains too few runs

(d) The sequence contains only two symbols

(e) None of these

Answer: B. The sequence contains too many runs

Q11) As a general rule, statisticians tend to use which of the following number of classes when
arranging data:

(a) Fewer than 5

(b) Between 1 and 5
(c) More than 30

(d) Between 20 and 25
(e) None of these

Answer: E. None of these

Q12) Which of these is not a test for usability of data?

(a) Source

(b) Contradiction of other evidence
(c) Missing evidence

(d) Number of observations

(e) None of these

Answer: E. None of these

Q13) Suppose the fraction of variation in Y that is unexplained by the independent variable X is .
Then r° is:

(a) Y

(b) %

(c) 15/16

(d) 1/16

(e) None of these

Answer: B. %



Q14) The average rainfall for a week, excluding Sunday, was 10 cms. Due to heavy rainfall on
Sunday, the average for the week rose to 15 cms. How much rainfall was on Sunday?

(a) 45 cms.
(b) 55 cms.
(c) 30 cms.
(d) 10 cms.
(e) None of these

Answer : A. 45 cms.

Q15) If arithmetic mean of two observations is 15 and their geometric mean is 9, then their harmonic
mean is:

(a) 4.5

(b) 6

(c) 54

(d) 8

(e) None of these

Answer: C. 54

Q16) This theorem states that for any set of observations on X and for any positive value k>1, the
proportion of observation lying between k standard deviations from mean is at least 1-1/k>

(a) Central Limit Theorem
(b) Karmarkar Theorem

(c) Chebyschev Theorem

(d) Statistical Limit Theorem
(e) None of these

Answer: C. Chebyschev Theorem

Q17) The karlpearson’s coefficient of correlation and covariance between two variables X and Y is
0.85 and -15 respectively. If variance of Y is 9, the standard deviation of X is:

(a) 3.58
(b) 8.26
(c) 3.69
(d) 5.88
(e) None of these

Answer: D. 5.88



Q18) If the two regression equations are: 3Y-2X-10=0; 2Y-X-50=0, then the mean values of X and Y

arc:

(a) 120,70
(b) 130,90
(c) 100,30
(d) 50,50
(e) None of these

Answer: B. 130,90

Q19) For a particular hypothesis test, 0=0.05 and =0.10, the power of this test is:

(a) 0.15
(b) 0.90
(c) 0.85
(d) 0.95
(e) None of these

Answer: B. 0.90

Q20) For a two tailed test of hypotheses at a=0.10, the acceptance region is the entire region:

(a) To the right of the negative critical value
(b) Between the two critical values

(c) Outside of the two critical values

(d) To the left of the positive critical value
(e) None of these

Answer: B. Between the two critical values

Q21) involves survey of the same population over a period of time.

(a) Cross sectional study
(b) Causal study

(¢) Random study

(d) Longitudinal study
(e) None of these

Answer: D. Longitudinal study

Q22) When the same questionnaire is administered to the same respondents to elicit responses in two
different time slots, we are measuring:

(a) Test retest reliability



(b) Split half reliability
(c) Concurrent validity
(d) Construct validity
(e) None of these

Answer: A. Test retest reliability

Q23) scale consists of a series of bipolar adjectival words or phrases placed on the two
extreme points of the scale.

(a) Likert
(b) Staple
(c) Semantic Differential

(d) Qsort
(e) None of these

Answer: C. Semantic Differential

Q24) A question is the one which clearly reveals the researcher’s opinion about the
answer to the question.

(a) Leading

(b) Loaded

(c) Double barrelled
(d) Vague

(e) None of these

Answer: A.  Leading

Q25) are regular schedule based personal interviews where a series of questions are
provided by the clients of the survey conducting company.

(a) CAPI technique

(b) Mall intercept Interview
(c¢) Omnibus Surveys

(d) Door to door interview
(e) None of these

Answer: A. CAPI technique
Q26) Rejecting a true null hypothesis is :

(a) Typel error
(b) Type II error
(c) No error

(d) Type X error
(e) None of these

Answer: A. Type I error



Q27) In this type of sampling, survey respondents are selected on the basis of referrals from other
survey respondents?

(a) Quota sampling

(b) Judgement sampling
(c) Snowball sampling
(d) Systematic sampling
(e) None of these

Answer: C. Snowball sampling

Q28) refers to inferring about the whole population based on the observations made on a
small part.

(a) Deductive inference
(b) Inductive inference
(c) Pseudo-inference
(d) Objective inference
(e) None of these

Answer: B. Inductive inference

Q29) Facts or information’s are analyzed and critical evaluation is made in

(a) Survey

(b) Action Research
(c) Analytical research
(d) Pilot study

(e) None of these

Answer: C. Analytical research

Q30) Research conducted to find solution for an immediate problemis .............

(a) Fundamental Research
(b) Analytical Research
(c) Survey

(d) Action Research

(e) None of these

Answer: D. Action Research



Q31) Fundamental Research is otherwise called

(a) Action Research
(b) Survey

(c) Pilot Study

(d) Pure Research
(e) None of these

Answer: D. Pure Research

Q32) A research which follows case study method is called:

(a) Clinical or Diagnostic
(b) Causal

(c) Analytical

(d) Qualitative

(e) None of these

Answer: A. Clinical or Diagnostic

Q33) Failure to acknowledge the borrowed material is called (Take and use of others as one’s own)

(a) Acknowledgement
(b) Foot note

(c) Index

(d) Plagiarism

(e) None of these

Answer: D. Plagiarism

Q34) Interview which require “Probing” is called

(a) Clinical Interview
(b) Depth Interview

(c) Group Interview

(d) Telephone Interview
(e) None of these

Answer: B. Depth Interview



Q35) Summarizing raw data and displaying them on compact statistical tables for analysis is

(a) Tabulation
(b) Coding

(c) Transcription
(d) Editing

(e) None of these

Answer: A. Tabulation

Q36) The measure of location which is the most likely to be influenced by extreme values in the data
set is the

(a) Range

(b) median

(c) mode

(d) mean

(e) None of these

Answer: D. mean

Q37) In this method of data collection the respondent has no knowledge regarding him/her being
under observation or study.

(a) Undisguised observation
(b) Disguised observation
(c) Mechanical observation
(d) Interview

(e) None of these

Answer: B. Disguised observation

Q38) The numbers assigned in a scale cannot be added, subtracted, multiplied or divided.

(a) Nominal

(b) Ordinal

(c) Interval

(d) Ratio

(e) None of these

Answer: A. Nominal



Q39) In this type of scale, a respondent is presented with two objects and is asked to select one
according to whatever criterion he/she wants to use.

(a) Multiple item scale

(b) Rank order scale

(c) Paired comparison scale
(d) Non comparative scale
(e) None of these

Answer: C. Paired comparison scale

Q40) By this method an expert provides subjective judgement to assess the appropriateness of the
construct.

(a) Face validity

(b) Concurrent validity
(c) Content validity
(d) Both (a) and (c)

(e) None of these

Answer: D. Both (a) and (c)

Q41) refers to a source that the author has referred to or it may be an explanation of a
specific concept.

(a) Executive summary
(b) Footnote

(c) Letter of transmittal
(d) Letter of authorization
(e) None of these

Answer: B. Footnote

Q42) It is generally referred as non parametric part to one way ANOVA:

(a) Sign test

(b) Run test

(c) Mann Whitney test
(d) Kruskal Wallis test
(e) None of these

Answer: D. Kruskal Wallis test
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Q43) This variable is a temporal occurrence which follows the independent variable and precedes the
dependent variable.

(a) Intervening variable
(b) Dummy variable
(c) Extraneous variable
(d) Unit of analysis

(e) None of these

Answer: A. Intervening variable

Q44) Which research design is flexible in its approach and involves a qualitative investigation in most
cases. It is the simplest and most loosely structured.

(a) Conclusive research design
(b) Exploratory research design
(c) Descriptive research design
(d) Causal research design

(e) None of these

Answer: B. Exploratory research design

Q45)Which of the following is true?

(a) The variance can be calculated for grouped or ungrouped data

(b) The standard deviation can be calculated for grouped or ungrouped data

(c) The standard deviation can be calculated for grouped or ungrouped data, but the variance can
be calculated only for ungrouped data

(d) (a) and (b), but not (c)

(e) None of these

Answer: D. (a) and (b), but not (c)

Q46) The finite population multiplier does not have to be used when the sampling fraction is:

(a) Greater than 0.05
(b) Greater than 0.50
(c) Less than 0.50
(d) Greater than 0.90
(e) None of these

Answer: E. None of these

Q47) The chi square and t distribution are both:
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(a) Always symmetrical distributions

(b) Used for hypothesis testing

(c) Dependent on the number of degrees of freedom
(d) (b) and (c) but not (a)

(e) None of these

Answer: D. (b) and (c) but not (a)

Q48) For the estimating equation to be a perfect estimator of the dependent variable, which of these
would have to be true?

(a) The standard error of the estimate is zero
(b) All the data points are on the regression line
(c) The coefficient of determination is -1

(d) (a) and (b) but not (c)

(e) None of these

Answer: D. (a) and (b) but not (c¢)

Q49) This type of question includes two separate options separated usually by ‘or’ and an ‘and’:

(a) Leading question

(b) Loaded question

(c) Double barrelled question
(d) Open ended question

(e) None of these

Answer: C. Double barrelled question

Q50) goes alongside the formalized copy of the final report and it refers to the purpose
behind the study.

(a) Executive summary
(b) Footnote

(c) Letter of transmittal
(d) Letter of authorization
(e) None of these

Answer: C. Letter of transmittal
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Q51) “Disinvestment of PSUs” is defined as the action of government selling or
liquidating an asset or subsidiary. The 'Disinvestment Policy' of Government of India was
identified as an active tool to reduce the burden of financing the PSUs. Read the
following statements carefully.

I.  To reduce the financial burden on the Government
II.  To improve public finances
II.  To encourage wider share of ownership
IV.  To depoliticise non-essential services
Which one of the following relate to the major objectives of this policy?

(a) iand ii,

(b) ii & iii,

(c) iand iii,

(d) all of these
(e) none of these

Answer: D. all of these

Q52) Which one of the following is an example of “oligopoly” in Indian markets —

i.  Cement Industry
ii.  Telecom Industry
iii.  Railways
iv.  Petroleum
v.  Airlines

(a) 1, 1i, iv, v

(b) iii, iv, iv

(c) 1, i, iii, iv

(d) ii, i, iv, v
(e) None of these

Answer: A. i, ii, iv, v
Q53) Which one of the following is not a need according to Maslow’s Hierarchy of
needs:

Self Actualisation, Self Contentment, Self Esteem, Social Belonging, Safety,
Physiological

(a) Self Actualisation
(b) Self Contentment,
(c) Social Belonging
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(d) Safety
(e) None of these

Answer: B. Self Contentment

Q54) Cash cows, Dogs, Question Marks and Stars are the terms used in which of the
following Strategy models?

(a) GE Matrix,

(b) Porter’s Model
(c) BCG Matrix
(d) PEST Model
(e) None of these

Answer: C. BCG Matrix

Q55) An example of Delayering in an organization would be

(a) Removing Responsibilities
(b) Removal of Middle Managers
(c) Reducing Staff Members

(d) Reducing Span of Control

(e) None of these

Answer: B. Removal of Middle Managers
Q56) Theory X and Theory Y of Motivation was proposed by

(a) Douglas McGregor
(b) F.W.Taylor

(c) Michael Porter

(d) Philip Kotler

(e) None of these

Answer: A. Douglas McGregor

Q57) The basic four Ps of Marketing — Product, Place, Price and Promotion are now
extended to 7ps. The three new Ps are —

(a) People, process , Participation

(b) Process, Pilot Test, People

(c) People, Process , Purpose

(d) People, Process, Physical Evidence
(e) None of These

Answer: D. People, Process, Physical Evidence
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Q58) Analyse the following statements and indicate which one best describes the
population and the sample —

(a) The sample is all members of a specified group while the population is the part of a
sample used to describe the whole group

(b) The population is all members of specified group while sample is the part of a
population used to describe the whole group.

(c) The terms population and sample are synonymous with one another and can be used
interchangeably

(d) The population is all members of a formal organization while sample is the members
of the organization who volunteer to participate in a study

(e) None of these

Answer: B. The population is all members of specified group while sample is the
part of a population used to describe the whole group.

Q59) The three basic decisions of Financial Management are

(a) Investment, Financing and Dividend
(b) Investment, Financing and Borrowing
(c) Investment, Profit Making & Lending
(d) Investment, Financing and Marketing
(e) None of these

Answer: A. Investment, Financing and Dividend

Q60) How is MBO best defined ?

(a) Employees do not need to know the companies objectives or reasons behind them

(b) Managers should direct the company and employees do what their jobs say they
should do

(c) Employees can offer their opinions but opinions will not be reviewed or acted upon

(d) Managers and employees collaborate to set objectives so that their collective
participation increases the organization’s success

(e) None of these

Answer: D. Managers and employees collaborate to set objectives so that their
collective participation increases the organization’s success
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Q61) The concept of Marketing mix was developed by-
(a) N.H. Borden
(b) Philip Kotlar
(c) Stanton
(d) T. Levitt
(e) None of these

Answer: A. N.H. Borden

Q62) The term marketing refers to :
(a) Advertising, Sales Promotion ,Publicity and Public Relations activities.
(b) New Product needs ideas, Developments, Concepts and Improvements.
(c) Sales Planning, Strategy and Implementation.
(d) A Philosophy that stresses customer value and Satisfaction.
(e) None of these

Answer: D. A Philosophy that stresses customer value and Satisfaction.

Q63) Testing before launching a product is known as:
(a) Acid test
(b) Concept testing
(c) Basket test
(d) Test Marketing
(e) None of these

Answer: D. Test Marketing

Q64) Providing a description of a product and its attributes and inviting comment from
consumers is called:
(a) Test marketing
(b) Concept testing
(c) Idea screening
(d) Market testing
(e) None of these

Answer: B. Concept testing

Q65) Marketing myopia related first paper was published in 1960 in:
(a) International Business review.
(b) Forbes Magazine.
(c) Harvard Business review
(d) Oxford University press.
(e) None of these

Answer: C. Harvard Business review



Q66) If Mars pays Hershey food corporation for the rights to use its name on his line of T-
shirts, then Mars is using which type of policy?

(a) Co-branding

(b) Licensing

(c) Manufacturers branding

(d) Private branding

(e) None of these

Answer: B. Licensing

Q67) A consumer contest is an example of :
(a) Advertising
(b) Indirect selling
(c) Personal Selling
(d) Sales promotion
(e) None of these

Answer: D. Sales promotion

Q68) According to the marketing and sales standards setting body(MSSSB) ,which of the
following is not a marketing function?
(a) Promote marketing intelligence
(b) Develop sales tactics
(c) Develop the customer proposition
(d) Work with other business functions and third parties
(e) None of these

Answer: B. Develop sales tactics

Q69) If Honda uses its company name to cover such different products as its automobiles,
lawn movers and motor cycle, it is practicing which of the following strategies?
(a) New brand strategy
(b) Line extension strategy
(c) Multi brand strategy
(d) Brand extension strategy
(e) None of these

Answer: D. Brand extension strategy

Q70) One of the most promising developments in multivariable segmentation, where a host

of demographic and socioeconomic factors are used, is called:
(a) Terragraphic segmentation
(b) Fermagraphic segmentation
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(¢) Geothermy segmentation
(d) Geodemographic  segmentation
(e) None of these

Answer: D. Geodemographic  segmentation

Q71) Stress is
(a) External force
(b) Internal resistive force
(c) Axial force
(d) Radial force
(e) None of these

Answer: B. Internal resistive force

Q72) Which of the following is not a characteristic of conflict?
(a) expressed struggle
(b) independent parties
(c) perceived incompatible goals
(d) perceived interference for outside parties
(e) None of these

Answer: B. independent parties

Q73) The standard of Personnel is represented by the job specification, as developed through
(a) Job evaluation
(b) Job analysis
(c) Job satisfaction
(d) all of the above
(e) None of these

Answer: B. Job analysis

Q74) The Recruitment and Selection process aimed at right kind of people
(a) Atright place
(b) At right time
(c) To do right things
(d) all of the above
(e) None of these

Answer: D. all of the above
Q75) The process involved in recruiting, hiring, training, evaluating, compensating, and
laying off people is called:
(a) selection

(b) recruiting
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(c) human resource management
(d) human resource planning
(e) none of these

Answer: C. human resource management

Q76) The first step in the human resource planning process is:
(a) assessing future demand
(b) assessing future supply
(c) preparing forecasts of future human resource needs
(d) preparing a job analysis
(e) none of these

Answer; C. preparing forecasts of future human resource needs

Q77) A job is a summary of the objectives of the job, the type of work to be
done, the responsibilities and duties, the working conditions, and the relationships of
the job to other functions.

(a) analysis

(b) description
(c) specification
(d) design

(e) none of these

Answer: B. description

Q78) Which function is not included in training and development programs?
(a) helping new employees learn about and fit into the organization
(b) designing training activities
(c) evaluating training activities to meet the identified needs
(d) preparing job design
(e) none of these

Answer: A. helping new employees learn about and fit into the organization

Q79) An evaluation in which the performance level of employees is measured against
established standards in order to make decisions about promotions, compensation,
additional training or hiring is called:

(a) performance evaluation
(b) performance appraisal
(c) performance analysis
(d) orientation

(e) none of these

Answer: B. performance appraisal
Q80) Maslow described humans as having an innate tendency towards

(a) balance
(b) healthy growth and development
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(c) freedom from neurosis
(d) stimulation
(e) none of these

Answer: B. healthy growth and development

Q81) Profit of business is:

(a) Assets for business

(b) Liability for business

(c) Income for business

(d) Expenditure for business
(e) None of these.

Answer: B. Liability for business

Q82) Purchase of assets is debited in purchase account, it is an error of:

(a) Omission

(b) Commission
(c) Principle

(d) Compensatory
(e) None of these

Answer: C. Principle

Q83) The balance of Assets after charging depreciation three completed years @ 10% with
written down value method Rs.1,45,800 the cost of assets was:

(a) 2,02,900
(b) 1,97,900
(c) 2,00,000
(d) 5,00,000
(e) None of these

Answer: C. 2,00,000

Q84) In which of the following situations at or below marginal cost is justified:

(a) Optimizing the product mix

(b) To dispose off perishable goods

(¢) To introduce new product in market
(d) All of above

(e) None of these.

Answer: D. All of above
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Q85) Fixed cost Rs. 3,60,000 and variable cost of Rs. (60% of selling price) 180 per unit,
the amount of Break Even Point is:

(a) 6,00,000

(b) 18,00,000

() 9,00,000

(d) 12,00,000

(e) None of these.

Answer: C. 9,00,000

Q86) X Ltd. Paid dividend Rs.8.5 in last year and market price of share at present Rs. 200.
Market is expecting dividend in current year Rs. 9.5. the cost of equity in the situation

1S:

(a) 11 percent

(b) 10.95percent
(c) 11.76 percent
(d) 11.2 percent
(e) None of these.

Answer: E. None of these.

Q87) Issuing Bonus shares resulted:

(a) Capitalization of profit

(b) No change in net worth
(c) Protecting outflow of cash
(d) All of above

(e) None of these

Answer: D. All of above

Q88) Ifthe annual demand of material 25,000 units, ordering cost Rs.4,000 per order and
holding cost annually per unit Rs. 15.265 what would be the number of order for
Economic Order Quantity from the following :

(a) 3578

(b) 7

(c) 8

d9

(e) None of these.

Answer: B. 7
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Q89) Choose the correct statement for a firm’s financial leverage:

(a) Reduce EPS when its EBIT is high
(b) Enhance EPS when its EBIT is low
(c) Enhance EPS when EBIT is high
(d) Stabilize EPS when EBIT is low.
(e) None of these.

Answer: C. Enhance EPS when EBIT is high

Q90) Optimum capital structure means:

(a) cost of capital is minimum and value of firm is maximum
(b) maximum value with maximum cost of capital
(c) maximum cost and minimum value of firm
(d) minimum cost and minimum value
(e) None of these
Answer: A. cost of capital is minimum and value of firm is maximum

22



Q91) Malcolm Baldridge national quality award has the following eligibility
categories/dimensions:

(a) Approach

(b) Deployment

(c) Results

(d) Manufacturing service and small business
(e) None of these

Answer: D. Manufacturing service and small business

Q92) Quality Assurance is:

(a) Top management’s intention regarding quality

(b) Functions determining implementation of the quality policy

(c) Actions to provide confidence of satisfying quality requirements
(d) All of the above

(e) None of these

Answer: C. Actions to provide confidence of satisfying quality requirements

Q93) In Acceptance Sampling, when there is a finite probability that the lot may be
accepted even if the quality is not really good, is called:

(a) Consumer’s risk
(b) Operator’s risk
(c) Producer’s risk
(d) Owner’s risk
(e) None of these

Answer: A. Consumer’s risk

Q94) Aging is a technique?

(a) Used to increase the priority of processed that are waiting for long times
(b) Used to decrease the priority that are waiting for long time

(c) Used to increase the priority of processed that are currently running

(d) Used to decrease the priority processes that are currently running

(e) None of these



Answer: A. Used to increase the priority of processed that are waiting for long
times

Q95) URL means in internet .
a. Uniform Research Locator
b. Unique Resource Location
c. Unique Research Locator
d. Universal Resource Locator

e. None of these

Answer: D. Universal Resource Locator

Q96) The percent of the sample means will have values that are within £3 standard
deviations of the distribution mean is:

(a) 95.5
(b) 96.7
(c) 97.6
(d) 99.7
(e) None of these

Answer: D. 99.7

Q97) The viruses spread through
a. email
b. Pen drive
c. Web site
d. All of the above
e. None of these

Answer: D. All of the above

Q98) What is gutter margin?

(a) Margin that is added to the left margin when printing
(b) Margin that is added to the right margin when printing
(c) Margin that is added to the binding side of the page when printing
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(d) Margin that is added to the outside of the page when printing
(e) None of these

Answer: C, Margin that is added to the binding side of the page when printing

Q99) Regression testing is a major part of which of the life cycle?

(a) Waterfall model
(b) V model

(c) Iterative model
(d) All of the above
(e) None of these

Answer: C. Iterative model

Q100) Acceptance quality level is:

(a) Maximum number of defectives that the consumer will accept
(b) Fraction defectives that the consumer considers acceptable
(c) Fraction defectives that the producer considers acceptable

(d) Maximum number of defectives that the producer will allow
(e) None of these

Answer: B. Fraction defectives that the consumer considers acceptable
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